HELER
TE% SHOEE RENFE102845
HEERREREISE
ITERXS - TiE - 1E5 - #5 ==K v = (| = (5 =R
e y2) ok R B HE FIE) | HE(SE) | HEEH BE
EIRIERE 65A
el 5.0
EIRIERE 80A
el 15.0
EIRIEHE 100A
‘ el 1.0
J ALVBREZL
el 8.0

RiEM




@) @)
HEREHERE
ST6EE EEAEI06iE
TEE wma e
X% BN | BHS0A | BEIA | /AL &
EAAE BT Bl AT
1.0 2.0
INSER ERT
1.0 1.0 6.0
HINZE
1.0
INSRER
1.0
NS
1.0
INST BrHT
1.0 1.0
TIREE
1.0
HARET
8.0
AR
4.0
5.0 5.0 1.0 8.0

RiEH




EEERE 65A

S G

1 fEFTYY
T & B X B M o= =

tES eIl

Cofii t=15cm 0.35%2=0.70 m 0.70
=Vl Esol]

3em<t=6cm 0.35%0.80*6=1.68 m2 1.68
R FEIA

Coik (8 ) 0.35%0.80%0.35=0.10 m3 0.10
kT

Cowt (8k4) m3 0.10
WRALSy

Cowt (8k4) m3 0.10

$ 65 | 3.00
HAE (SGP)

HRUHEESA m 0.50
SRR

$ 65 m 0.50
AN Vot —

2 65 18 2.00
A= HVAETAE LS

¢ 10024 F 2%2=4 | 4.00
T VAR

Bty Bt 0s. 0.35%0.80%0.35=0.10 m3 0.10
) )=MNHE W (51)

AN L =! m3 0.105
ABE R A (B1)

20kgf A 4% 2.65
v y)—h

R _EEVAVETER m3 0.10

FIRERE 80A Bt
1 fEFTYY
T B X B | M o= =

AL ARG

Cofii t=15cm 0.35%2=0.70 m 0.70
2 7Y=MNI2D

3em<t=6cm 0.35%0.80*6=1.68 m2 1.68
HRFEIA

Coik (Ek ) 0.35%0.80%0.35=0.10 m3 0.10
kT

Cow (8k4) m3 0.10
WALy

Cow (8k4) m3 0.10

¢ 80 | 3.00
HAE (SGP)

HRUHES0A m 0.50
SR A

¢ 80 m 0.50
AR Vot —

2 75 18l 2.00
A= ANAETAE LS

¢ 100LLF 2%2=4 | 4.00
ANV

Bty Bt 0S. 0.35%0.80%0.35=0.10 m3 0.10
) )=MNHE W (51)

AN ! m3 0.105
ABE R A (B1)

20kgd¥ A 1% 2.65
v y)—h

[ _EEVIVETRR m3 0.10




BEERE 100A R EE

1 ATy
T f& B = HAL | %% & g %

EEERE

Cofit t=15cm 0.35%2=0.70 m 0.70
v 7)=MNE2h

3em<t=6cm 0.35%0.80%6=1.68 m2 1.68
A IA

Cowt (8k4) 0.35%0.80%0.35=0.10 m3 0.10
I

Coitk (8:#5) m3 0.10
ALy

Coitk (k:#5) m3 0.10
$ 100 m] 3.00
H A% (SGP)

HAUHEI00A m 0.50
SE PRfT

$ 100 m 0.50
AN o 3—

2100 ] 2.00
IV TS

¢ 100LA T 2%2=4 m] 4.00
EVZN%

M2 . S DI 0.35%0.80%0.35=0.10 m3 0.10
)= B 1 (5F)

Yev fHE m3 0.105
HBBAE A (B1)

20kgfS A ® 2.65
) —h

[6] EEMNVETER m3 0.10




